Wellma
ASTRALPOOL |2\

COMPONENTES PASO 1/ STEP 1
COMPONENTS 1 02

DUCHA BITERMICA COD.41256
BITHERMAL SHOWER

2180

2
]
POS. Descripcion / Description %“ﬁﬂﬁcy” éﬁg;gm
1 Bastidor Lateral / Lateral Frame 2 - I Blé/%ﬁ\l E')I'EJSB/-\EG%EQ gb 90
2 Bastidor superior / Top Frame 1 HHT H [HH]
3 Conjunto tuberia hidratlica @22 / Hydraulic tube @22 unit 3 HH] A I lggm%))'oggggﬁrg ﬁgsbaa%t(i)%% ?ns éa;%riigi(gigen apoyos (altura
4 Pifia / Shower head 7 o [ % O % i ' '
< HA ] H A Y .
5 Tuerca M8 DIN-934 A-4 / Nut M8 DIN-034 A4 4 < ] i 1.2_ Conexion toma tierra (ver detalle A).
6 Arandela 28 DIN-0021 A-4 / Washer 28 DIN-9021 A-4 8 EH; A— Aj_k::;: 1.1_Put the lateral frame (1) on support(height 175mm),
7 Arandela @8 DIN-127 A-4 / Washer 8 DIN-127 A-4 4 HH 0 Il keeping a distance of 900mm.
8 Tornillo M8x20 DIN-933 A4 / Screw M8x20 DIN-933 A4 4 — 1.2 Connect the earth wire (see detail A)
Made in EU DETALLE A = '
41256E201 06.07 NIF ES A 08246274 ‘\ DETAIL A

WE RESERVE THE RIGHT TO CHANGE ALL OR PART OF THE FEATURES OF THE ARTICLES OR CONTENTS OF THIS DOCUMENT, WITHOUT PRIOR NOTICE.
NOUS RESERVONS LE DROIT DE MODIFIER TOTALEMENT OU EN PARTIE LES CARACTERISTIQUES DE NOS ARTICLES OU LE CONTENU DE CE DOCUMENT SANS PRE-AVIS
NOS RESERVAMOS EL DERECHO DE CAMBIAR TOTAL O PARCIALMENTE LAS CARACTERISTICAS DE NUESTROS ARTICULOS O EL CONTENIDO DE ESTE DOCUMENTO SIN PREVIO AVISO.
CIRISERVIAMO IL DIRITTO DI CAMBIARE TOTALMENTE O PARZIALMENTE LES CARATTERISTICHE TECNICHE DEI NOSTRI PRODOTTIED IL CONTENUTO DI QUESTO DOCUMENTO SENSA NESSUN PREAVVISO.
[WIR BEHALTEN UNS DAS RECHT VOR DIE EIGENSCHAFTEN UNSERER PRODUKTE ODER DEN INHALT DIESES PROSPEKTES TEILWEISE ODER VOLLSTANDING, OHNE VORHERIGE BENACHRICHTIGUNG ZU ANDERN.
RESERVAMO-NOS NO DIEREITO DE ALTERAR, TOTAL OU PARCIALMENTE AS CARACTERISTICAS DOS NOSSOS ATIGOS OU O CONTEUDO DESTE DOCUMENTO SEM AVISO PREVIO.




ASTRALPOOL |2\

PASO 2/ STEP 2
21

PN

AY
—%
]

T T T 1T T 1T T T T
T
T

41256E201 06.07

DUCHA BITERMICA
BITHERMAL SHOWER

PASO 3/STEP 3

2.1_ Colocacion del bastidor superior(2)
sobre los bastidores laterales(1).

Fijar unién mediante tornilleria
suministrada (ver detalle B).

2.1_Put the Top frame(2) on the Lateral
frame(1). Fix the union with supplied screw
unit.(see detail B).

@

DETALLE B~._
DETALB -

Made in EU
NIF ES A 08246274

WE RESERVE THE RIGHT TO CHANGE ALL OR PART OF THE FEATURES OF THE ARTICLES OR CONTENTS OF THIS DOCUMENT, WITHOUT PRIOR NOTICE.
NOUS RESERVONS LE DROIT DE MODIFIER TOTALEMENT OU EN PARTIE LES CARACTERISTIQUES DE NOS ARTICLES OU LE CONTENU DE CE DOCUMENT SANS PRE-AVIS
NOS RESERVAMOS EL DERECHO DE CAMBIAR TOTAL O PARCIALMENTE LAS CARACTERISTICAS DE NUESTROS ARTICULOS O EL CONTENIDO DE ESTE DOCUMENTO SIN PREVIO AVISO.
CI RISERVIAMO IL DIRITTO DI CAMBIARE TOTALMENTE O PARZIALMENTE LES CARATTERISTICHE TECNICHE DEI NOSTRI PRODOTTIED IL CONTENUTO DI QUESTO DOCUMENTO SENSA NESSUN PREAVVISO.
IR BEHALTEN UNS DAS RECHT VOR DIE EIGENSCHAFTEN UNSERER PRODUKTE ODER DEN INHALT DIESES PROSPEKTES TEILWEISE ODER VOLLSTANDING, OHNE VORHERIGE BENACHRICHTIGUNG ZU ANDERN
RESERVAMO-NOS NO DIEREITO DE ALTERAR, TOTAL OU PARCIALMENTE AS CARACTERISTICAS DOS NOSSOS ATIGOS OU O CONTEUDO DESTE DOCUMENTO SEM AVISO PREVIO.

388

2372

__
¥ Tw

::f:f T

T )

T
T T T T

T T TT

T

T T T T T T T T T T T T T T T

T T1
T

S

DETALLE C
DETAILC

COD.41256

3/4" BSP Ext.

3.1_ Conexion conjuntos tuberia hidradlica(3)
sobre tuberias de los bastidores laterales(1).

3.2_ Conexién conjuntos tuberia hidraulica(3) hacia el
cuadro hidradlico.

3.3_ Montar pifias(4). Para regular caudal ver detalle C.
3.1_ Connect the Hydraulic tube unit(3) on the tube of the
Laterals frame(1).

3.2_ Connect Hydraulic tube unit(3) to the hydraulic box.

3.3_ Assemble the shower head(4). To adjust the flow see
detail C.



